Dé Chéadaoin 3u

4x10=__ 4x2=__ (x2=___
1M0x11=__ = 63+9=__ 4 x8 =
5x12=___ 1x10=___ 5x7=
80+10=  3x9=_ 9x4=
8x6=__ 132+12=__ 12x9=
12x7=__ 5x7=__ Ox1=__
4x11=__  9x9=__ A +4=__
12+12=__  12x8=___ = 2xM11=__
M1x11=__  6x7=__ 9+3=_
35+5=__ 77+ 11=__  63+7=__
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Scriobh nota deas duit théin:







Share 7 ormbands equolly omong 3 swimmers. Each gets 2 QJ
There is 1 armbond left over Here are 4 division sentences for this.
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1. Make triangles using 10 strows (3 straws make 1 triongle).
(o) How many triangles con you make?
(b) How many straws are left over?
(<) Division sentence 10+ 3 = R

2, Make squores using 15 lollipop sticks (4 sticks for 1 square).
(o) How many squores did you moke?
(b) How many sticks are left over?

(<) Division sentence: 4 & .

3. There are 18 small paint pots. Put 5 pots an each of the 3 trays.

(o) There are ___ paint pots oltogether.

(b) Eoch paint troy gets _ pots.

(c) There are pots remaining

(d) Division sentence:  +5= R




Hares and he

Foxes and bad

«Cursive” means prir
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